T8

== A

bl

|

PR

1. %54
EHL SATEE BWIF NS EES
FE1T 8P W7 25560 BB 5 T

2. EBWE

1) HEFT4 WIEJ 2 e B S T
2) AT HIM 365 H il H SFITHE4A1TH
(%)) = S84 A3LH
(1mEZEw) =
FRETAA EBNE

ARSI MBS NS A Bkt b OVBEIE i S5 L 2 B e, B, 7 — 2B, BRHMERK.
THEHOERS S & DB OEREG DI EETIOD THD,

S LE LKA SR E
T B AS S5

15K
15K

A DU E 5 5w R




%545 SM7TEE BHIY LEEIELH BERNRE
H _H I & Bl #_ Al b B ¥ 2 B {f = % &
S LEEKIR RS = 1 36, 193, 980
S LEBRRARER = 1 36, 193, 980
S LEEKR R = 1 36, 193, 980
EREE = 1 131, 100
EE-EEES X(A) 1(12) 456, 000
EURHE (XA LEES) H(A) 1(48) 741,810 35, 606, 880
£&8 = 1 342, 000
HiE GRETEH) = 1 342, 000
HEEF = 1 342, 000
HEE = ([E) 1(12) 28, 500 342, 000
EEEE % 1 993, 343
EEREE = 1 993, 343
EEEE = 1 993, 343
VAV = b2
EHARE =& = 1 356, 068
REXBE 2 1 21, 264
EREBEERN . EREE H(A) 1(12) 242, 088
RO RERH 55 2 1 373,923
E R (Z 01t R {ffi <) Fa 1 37, 529, 323
Z O fth [ i = 1 9,133,995
—REEEE = 1 25, 126, 682
F LB R R RS = 1 71, 790, 000




%545 SM7TEE BHIY LEEIELH BERNRE

H _H I & Bl Al BB B ¥ B B {f = % &
BB ET 2 1 19, 452, 945
BB ET = 1 19, 452, 945
TEHRE 2 1 19, 452, 945
HURME (ERERS) [TFRHH 5| 242 41,973| 10, 157, 466
LTS (ERERE) |[hBHH =] 123 75,573 9,295, 479
E R (2 01t R {ffi <) pa 1 19, 452, 945
Z O fth [ i = 1 4, 863, 236
—REEEE =K 1 13,093, 819
BRI 4R S T A% = 1 37, 410, 000
FE A% &t =K 1 109, 200, 000
SHERELEE = 1 10, 920, 000
EBRAEN 2 1 120, 120, 000




